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PMC PRACTICE TEST 08

PHYSICS

Volts f Ampere=
A Chin C, Pascal
B, Ohm meter D. None of them
Decrease In velocity per unlt time Iy called
A Aceelemation C. Deceleration
B. Positive acceleration D. Uniform acceleration
For lieal step up transformer Ps ___Pp.
A. Equal 1o C. Less than
A. Greater than D. None of these
Charge of pholen Is
AD 5‘ Negative
B. Positive /II"Pmiti\te'nrg:tiw
As the wavelength of light used Increases. the ﬂ!ﬂﬂﬂ between bright Iringes
In the Inlerference patiern ... ﬁ‘
AL Increases C, Remaing same
B. Decreases N Hﬁh‘ D, nm-' of
The _____ reactlon Is an example of I‘tll'-'l'l.'l:lll :um e of eaer
A. Fission / h""-x“ (\Hﬂlh n ﬂllll b ™
. Fusion A IJ h-:mc of these -
Which light h:ll more 'rl'ludh @
A. He-Ne laser « 59 ! C. 'l"!'“ﬂ"",‘

T D. All gre eual

B. White N
To mt:.luh* {m A.C. wll:: 1y lluiu[n A.{:‘]'mrltnlh'i:l:ler. It Is deslrable
that 1l supply for the potentlometer Is laken

A Fromi a sottrce which is oot I]‘IE;.Wlt as I'ru:-n own vollage

B I'ifurnn battery O

L".. Frurn the same mmu 3 udmm mlugc

D. Any of the ahoye= ‘\ £

The uall n[nlrt"'ﬁ.'lr Meld llrl.l! ih it
C.NIY

AVIC
ANIC ot D.Nm
Uniler which conditions)a real gas approsimale lo an Ideal gan?

A Pressure = high di-'mil}r = high
1. Pressure = low density = high
. Pressure = high density = low

D, Pressure = low density = low

[1alf lfe of a radiation active clensent Ly that perlod In which half of the

alems _
A DifTuse . Disturbed

B. Decompose D. Decay

A comstani ferce F= 2+ 3] Hk s applied on a body whal will be the werk
done 1o move 8 body Sm In 2- direcilon

AD . 45)

B. 1D} D.20J

[nstanlancous ¥ elocity Is defned at |
A. Particular displacement C. Instant tme
i . Average hme
[nstant peceleration
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Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.10

Q.21

Q.

Q.24

Q.15

Q.16

Qa7

7T Radlan s equal to ___ degree approximately

A 300 C. 500

B. 400 D, Wone of these

An object undergoes simple harmonle motlon, Iis amplitede b x0, The speed
of the object Is ¥ when lis displacement Is x0/3. What Is the speed when It

ilbiplacement b 307

Avi3 C.12vy
B.2v D.o

Which Is the following Is not a unit of angular displacement :
A Degree C. Meters

B. Revolution D. Radian
The K.E. of a body of mass 1kg and momentum of 2Ns |s ;
Al C.1

B.2 D. 41
The spectrum ol perfect black body Is
A Line Y {Ihml

B. Continuous DAl of these

Which of this Is consiant In ﬂﬂh'ﬂﬂ!]ﬂ!ﬂﬂ“ ‘~.‘*.
A. Total heat “‘-«.\_“Kaﬂm
B. Waork done

Which source Is assoclated 1l'|.ll'|| allne rlllihl-nn Ipﬂ'lr.l “*-.._
A_ Electric fibre | | .0, Red 1raffic n;u
B. Neon Street sign ' l 'ﬂ Sun
llow can a mp:ﬂ:& Meld hl' ]Irmll;r:ﬂi" ‘M‘\:_:._
A.Using a pmnun g.m:'l '
B. r_ll:'ﬂﬂl: -:umml \,

C. Lsnn;.lhmmmr} mq,rm '\ - . HH'"‘“—- 4
D. Utu::: p:rm.um:nl mug:utm'c -cm: rurmut
lrlht peak voliage I 7V, c:h:n[:l- Ih.r pr.-:.l‘-t t pnl-. vallage.

AV

B.18V- _,/"’L _ :
You have three ﬂp:rllnﬂ. gath of 2|C. In which of the following

0 ml:ln:llﬁi;.nl' the three ﬂ]l cllors, the revultant ecapacitance by 3pC?
Ao All three capacitors n ﬂ:n

B. Two capacitors ane in  series, one in parallel

C. Two ::lp:lﬂmr!nm [lﬁ'l:.m]!:l one in series
D. All three capacitors in parallel

Hall wave recilller paves only

A. Lower hall eyele C. Both cycles

B. Upper half cyele D. None of them
The sum of abworption and transmisslon ef light In a medium Is equal (e
A Incident light C.Anyofaorb
B. Reflectad Light D. Wone of these
Folarizatlon explalas light Is

A. Electnc in nature C.Botha & B

B. Magnctic in nature D. Wone of these
X-rays used (o measure

A Fractures C. Blood pressure
B. Tempemhire D. All of these
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Q.28

Q29

QJl0

Q31

Qa2

Q33

QM

QJ5

Q36

Q37

A rommon material for cushiloning objects In packages b made by trapping bubbles
af alr betwees sheeis of plasiie, I this material more efective st kerping the
ceatenly of the package from moving arouwl Inslide the package an

A A hot day

B. A cold day

C. Esther hol or cold days

D. There is not enough information o say

A car accelerafes fram 0 to 72 km/h In 5 secomils. 1T 1t hay wheels of dlameter
50 cm. the angular acceleration of lts wheeh |s

A Lbmds C.l6nds

B.Snds D. 160 pd's

Light of wavelength 450 nm |5 Incldent on a difraction grating on which
E000 lines/em bave been rulell. Determine the angle correspanding 1o thind
order.

AL C.425

B. 26 D{39.5

A vibrating string have a llile sound. Iluun‘rt, when attached with a board
then sound have a greater Intenshy, 1f 14 l:mm:- .
A. The stnng vibrates with more memr oy

B. The sound is concentraled over mnllﬂ' I.r:lh""
C. The speed of sound is greafer in board \\\ N
D. The encrgy leaves the board al & grealer I‘ith! ~
Two pulses move In I:Ijl]ll]il:ll directions on a lfl‘l.ll].l!ll are ldentical In shape
excepl thal one has pm[lhu t!fuplarnmrnh ol the' E:mh of the string and
the ather has nrgllhr .:Ihplnl::mfnh At the moment iBe two pulses
rnmplrlr!:\- ov erlap on the ilflnl,. 'l'l'll.ll.'hlpptm" y

A The rnemr assoctated wiﬂ'l Ihﬁ pulses I].u

B. The ﬂrm;dncs nol rnm-': ol ur:ls E

C. 1116';:_11::; forms a straight !mu fir a moment

D. Fnlm '-':m:hn.'l and will ot uppm agrio

Fora lincar rehtlumhl:p between ﬂupj.lntn enl and lime we get d-1 graph as
A Straight line ]ms{ﬁ_' tirotig !‘-:rni.m

B. Strugln biric | parallel ol
C. Quadmatic rrlulumhnp /,f'l
D. Cubic ml.:llmmllu]:
Which ane of the follow ng bulls has the leas! reshilance?

A 100W 'y C. 300W

B. 200W D. 60W

Terminal poienilal diTerence of a cell

A Increases with increase in its internal resistance

B. Decrease with increase in infernal resistance

C. Is independent of its imemal resistance

D. None of these

In a canductor, If 6-coulomb charge Maws for 2 secondw. The value of electrie
currenl will be

A3 ampere C. 2 amperes

B. 3 volis D. 2 volis

Farad Is definedd as;

A Newton / voll C. Coulomb / joule
B. Coulomb / voli 0. Coulomb / newion
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Q38

QJ?

Q.40

Q.41

Q42

Q43

Q4

Q45

QA6

QA7

QAS

20V, 50 Iz AT supply Is connecied acrovs a reslior of 30 k ohmy, The
carrent at time | Seconds, assuming that It ls zero a1 =0, I

A 4.4 sin{314t) Ma C. 6.2 sin{3141) Ma
B. 44 sn(15T0 mA D. 6.2 sinl1571) Ma
The coupling coeMiclent of perfectly coupled coll Is

A Zero C. More than |

B.1 . Infimite

What s the angular frequency durlog the circular motion?
A.qmH C.q'm

B.m'qB D. qmB

A circular loop of radius 2 m placed having area In the directlon of magnetlc
fleld of 100 T, Nox will be

A 1296 wh C. 1190 wb

B. 1296 wh D. 1426 wh

A Tull wave rectiler aves [oal reslstor of Iﬂl}nﬂ. Asvsume the disde have
RI=104L, Rr=r. The voltage applled to dimh h .H.'I\' with a frequency of
5001z Calculate the AT power Inpat

A. 358.95mW /F KC 145,76 mwW

B.275.2 mW D, 456. TII "'hln

A Mirst harmonle statlonary nund wave Is prnd;;a n Ihl :|:|r of the cylinder,
which I balf filled with “:Irr.’.'ﬂnre h:lH\h added to Iheql.l.llder. now Mt
harmonle statlonary Hm h prm!urﬂl with :"‘tll[r:rrnl ihqnmq Vhat Is

the change In I'rrqu ency Imi the nalure nl‘.'dlq!h:rmrnl In alr at the waler
surface? H;’ Nh\a
A Natwre of displacemenl = nnun:'ﬂrh ';Imnm:' in I'rl:'qucm:j' d:m'rm
B. Nature of ninsplar:mmnt“t uuhundﬂhnnge m{mﬂ‘-‘ meTease
.
€. Nature nfdlsplaum:nt #nnd:-ch:mge in = increase
D. HH‘nrt l:ll'ahpl:cmmlt node hn.ug: in l'rnqumq. = decrease
An Ianlc atom which Is rqulvﬂul 1o hy nlruf.-,m atem has wavelengih equal lo

4 N

iHrI.II of hydrogen lnes I3 NS

T TN V. C. Ne*

B.IREE ) D. Na'®

The energ¥ stored In a parallel plate capaclior Is 24 J. What ks the potenilal
dilference between the ]llllui*l'l:hr capacltance of Lhe capacitor Is 3 pF?

A 4Ky T C.54kV

B. 16 kV ' D. 8 kV

In which of the followlng processes the heal Is nelther absorbed nor released
by a syylem?

A. lsochonc C. Adabatic

B. Isethermal D. Isobanc

4000 Coulomb charges were passlng from the wire for about 12 secands,
Estimate the current durdng thiv process?

A. 3333 ampere C. 666,67 ampere

B. 33333 volis D. None of them

Fower Iransler from primary to secondary Is through Nux Unkage, so the
primary anil secondary colls shoulil be wound In such a way thal Max
coupllag belween them Iy

A Mm C. Zero

B. Constani D. Max
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QA9

Qs

Q55

Q57

Q.58

Q39

Q.60

Is It pessible to vivualize magnetic Mux lines

A Yes directly we can see with eyes

B. We need microscope

C. We need Iclescope

. All cases are not possible

What will bie the e - Broglle wavelenglth when the klnetle enerzy ol the
electron Increaves by 5 1lmes?

ANS C.INS

B.5 D. 15

A monochromatic light Is Incldent an two slits and Interference patiern Is
produced on sereen at the distance L. Now one slit Is covered, no light coming
frem (L. What §s the change in pattern on the screen?

A The width of central maximum is deereased

B. The wulth of outer maxunum is decreased

C. The imensity of central maximum will ncrease

. Less number of fringes will be observed ,» X

When a sione Is thrown horlzonially 'nllh 3 mis Irum a bullding of helght S m
then Just before hitting grounid les aceeleration Is x.‘_x\

A 2w oo -;s'ni.rr

B. 13 m's® AN ) N

The ratlo of angular speed llf he I11!nulll h:ml of thrl‘. In llll.lﬂ lts hour

hand ls : s NN,
A 3600:1 \n E.?f.;l

B. 60:1 A ﬁ D, 120
Sample ufrlllhil.‘lh'n llfrnﬂlt with [nltlal mass of 24 :m decayed to 3 pm In
15 mlnuln{nw mﬂth nl'qu[lu:l'l lln“ﬁ]tnm alned t!hlr the firs1 12

'\_r'-'

minuies? -
Allg ’-;/' E

El. 6 g’ N "D.se

JL]url Icle of masy Iﬂrﬂl mu*.lng with Veloclty 10 (x)* 172, here x Iy
dhphmt.'ﬂu work dei by nut fefee during the displacement of
particle from 1=4 fo x=9 v

A 1250 C. 35001

B.1000J D. 2500 1

A 200 walt bulb operatesdn a 210V circult. Flad the current.

A 0.9 Amp ‘\I/ C.2 Amp

B. 0.6 Amp D.} Amp

BIOLOGY

In parthenocarpy which levels are high In ovaries?

A Gibberellins C. Auxins

B. Cytokinins D. All of these
What Is the resaluilon power of a8 compound microscope?

A. 2 micromeler C. 24 micrometer
B.2A 0. 24A

A chemleal component that [s NOT found In all virases Is:

A Proten C.DNA

B. Lipids D, RNA

Which of the followlng Is oot a component of HIV?

A RNA C. Ribosomes

B. Protein D. Reverse transcriplase
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Q.61

Q.62

Q.53

Q6

Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

Q.11

QT4

Q.15

Chlorephylls are found embiedided In the membranes?
A. Stroma C. Thylakoid

B. Grama D. Inlergrana
Which of the following Is not found In serfes prolosiomia?

A Annelida C. Mollusca

B. Anthropoda D. Echinodermala
All of the lallowlng al:oul reflex actlon are true EXCEFT:

A is voluntary €. It 1s found in higher animals
B. It is involuntary D. All of these
Mating with non.relatives Is known as?

A Inbreeding C. Breeding

B. Outhrecding D, None of these

Vaseular Camblum Inltlally appears as actively dividing cells between?
A Primary Xylem and secondary xylem
B. Fnmary xylem aml secondary phloem

C. Secondary xylem and secondnry phloem \

D. Pnmary xylem and pnmary phloem "\‘
In competitive Inhibitlon, the two lhlug‘ that hInMthNt active slte are?
A. Substrate y H"‘*c&;ﬁ;\r
AN
B. Inhibitors N e D2 Aand B
ARO blood group system ° 'n'i\ illscov rrﬂl I.m. LY,
A 1811 yr 1911 %
B. 1801 ' l n.- 1901 -
Which of the ln[lnh: Isa r:lltmlr:'l link between n.l.:h-nlh:m and anabollsm?
AAF L \ C.ADP
B ATP N R T D. Mﬂf
The first Batteria ever 1o be un'rn'inl m\\"“-—
A_Coceus -\ O "-.1- 1 . C/Spirochete
B, Vibrio LN “D. Bacillus
'I'h’l.l::pe niwm:urh “x.h P
Al Sphmul Y b C. Mosquilo
B. Butterfly ! D. Rectangular
The numbier of spermathls |l luced from primary spermalocyics h?
Al b/ C.3
B.2 \-‘ o D.4
Lymph nodes n:ll:r Iu"lmtﬂl In the human body In the Ussues of the:
A. Stomach C. Brain
B. Thyroul pland D. Groin and neck
Which structure of proleln glves Infermation about the folding of a proteln?
A Pnmary strociure C. Tertaary structure
B. Seccondary struchure D. Quaternary structure

Changes In sarcomere lenglh are due o the flaments pulled along the thick
Mamenis |a the directlon of the:

A H rone C. Z Line

B. M line D. I band

A certaln type of plant Iy only Lall whea It has a helerezygous genotype. If
two helerozyzous plants are crossed, what b the probabllity thelr offspring
will also be tall?

A 25 C. 7%

B. 507 D1
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Q.76

Q.80

Q.81

Q.52

Q13

Q.84

Q.85

Q.86

Q.87

Q.58

Q.29

Chlorophyils malnly absorh light of which wavelength?

A. Orange blue C. Violet red

B. Yellow orange D. Orange red

In the alr passageway, the Incoming alr passes [rom the pharyax 1o
A Bronchs C. Windpipe

B. Bronchioles D. Larynx

Blerhythms are called clrcadlan which means about one day se Lhey are also
called?

A. Diumal tempo C. Durnal rhythms
B. Dinmal tme 0. All of these
Robert Koch discovered hocterin that camve

A Tuberculosis and Typhoid

B. Tubereulosis and Measels
C. Tuberculosis and Cholera
D. All of Above

A melal cofactor which s used In nn'lhuh !i'l"‘f ghcolysls b7
A Fer3 ey
B. Mn+2 AL b
What Is an example of an oviparous mmm!l? :.h

A Penguin O C."Spm:f anleater

B. Shark A "1';:\0 Elephiing. ..
Which of the ln!]nﬂ'ln; Iﬂl nni he nhurﬂ:ll h a h:l:lﬂ'lll ulﬂ

C-'.Eﬂlgi apparatus

A.DN
B. Cell mﬂn]'lr.ln: \ll' D. Ryl I
The total kinetic ﬂn-p.r of water molecules s known as:

e

A Water pﬂ.‘[m‘llnl N\ '\ 3 C. Pressure potential
B. ﬂsmnlie mlmlmi " L - D, None of these
Fﬂdl::ldt lll;llllllnn In mntt melabollc p:lhw:rli;'l- olves which type of
- Y
El.l}nll.'l T
A- I[ﬂlmmmﬂ*"‘_"""\ ~ C. Apoenzymes
B. Cnmz]m — \ D.Allostenic ensymes
Fluld ks Hn‘l'!td by how many thre’sets of glands which comblne with the

sperm (o Torm:

A Interstitial Elmi,___ C. Ammotic flnd

B. Semen D.Both Aand B

Which of the lnﬂu'l'dn;: does NOT vecur during skeletal musele contractlon:
A. AT s hydml:.'ml B. Calcrum binds to myosin heads
C.BothAand B D. None af these

Which of the following Is an example ef 2 tetrapod?

A Flesh fly C. Taranmula

B. Blue-ninged oclopus D. Hommungbird

Which of the following siatements explalns why viruses are only abile (o
maliiply In living cells?

A Thewr bunary fission is controlled by host cell genes

B. Virus do nol possess the necessary components for sell-replication

C. DNA 15 only able 1o replicate inside Living cells

. They have enly enough genctic informuation for DNA replication

Il twa species have slmlllar prolelns and geoes [t means

A. They have same organs C. They have similiar appearance
B. They have comman anceslors D. All of above
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Q.50

Q.91

Q.97

Q.98

Q.100

Q.101

Q.102

llow many compounids of tar of tohacco smoke are Included In causing
cancer?

A2 C.B

B.5 D. More than 10
Ceaperation of the iwe photosystems of the chloroplast Is required for___
A, ATTP syvsnthesis

B. Reduction of NADP

C. Cyelic phiotophosphorylalion

D. Oxsdation of the reaction cenler of photosystem |

Which of the following Is o mesh of Interconnected membranes involved In
proteln syntheshs and tramyport?

AER C. Golgi apparatus

B. Cytoskeleton D. All of thees

Which of the following Is Inherlied via an avtosomal recessive allele?
A Hemoplulia JC. Huntington's discase
B. Color-blindness " DlCystic fibrosis

The total aggregate of genes in a populatlon atan¥ once time Is called
population’s? s,

A. Genome Ty Eml:hl.' roup

B. Gene pool N D 'Genoenic h'br-ln'
The spinal cord s dl'l.lllﬂ“lld'lmw many. [I".-rl-ll-l l'q;il‘n

A2 21 o )

B .4 “‘uﬁ n.3 *
E‘}’:nnh:ﬂrrl: hﬂ'rﬂkl:h -ﬂl’ he lollowing type ol celt wall?

A Gram positive. \\ C. Ccﬁﬂﬂ'lr.‘"'

B. Gram mgﬂn‘n“"»\ \ D. A:ﬂful

year. This sknownas | |
n. Fﬂ!ll::ul.:u cycle o
B. E_ﬂmus cytle T
What typeof the phage Is'a 12 l'Iu:r"
A.ssDNA I'hng.r:""'r \

J' “C. Luteal eyele
D. Menstrual eyele

C. d..'iﬂ:“{ﬂ [*I'-l-'lgl:'

B. ss RNAThage ) D. ds RNA Phage

The centers for thermoregulation and oxmoregulation are present [n:
A Thalamus 07 C. Hypothalamus

B. Amypdala D. Cerebellum

Which of the fellowing slep occury Immedlalely after blading of Cal+ with
treponin molecule during musele conlracilon?

A. Binding sites ol actin get altacked to the myosin head

B. Tropomm uncovers the actin binding sites.

C. Ca2+ goes back inside sarcoplismic reticulom.

D. Tropomyosm gets removed from the binding sites of actin filamenis

Ilow are photosynihelle plgments organized?

A Clusters C. Stacks

B. Fholosyslems D.Bothaand b

The procews lhrough which anlmals take oxygen (02) from the alr and
release carbien diolide (CO2) Inte the alr s called

A. Breathme C. Dilfusion

B. Respiration D. Osmosis
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Q.10 The gencilcally Engineered vaccine Is not avallable for which of the

following?
A_TIAV C. HCV
B. lIBV D. HDV
Q.104 The bacterlophage Incorporaies n the viral genome in which phase?
A. Lysogemie cvele C. Both
B. Lytic cyele D, Wone
Q.105 The most Important function of the cytoplasm [s 1o acls as a7
Al Activity site C. Wastes
B. Storehouse 0. Wone of these
Q.106 The most Importani function of the cytoplasm Is fo acts as a?
A Activaty sile C. Wastes
B. Storchouse D. None of these

Q.107 Converslan of suBNA () 1o 1sRNA (+) mediated by
Al DNA dependent DNA polymerse
B. DNA dependent RNA palymerase
C. RNA dependent DDNA polymerase
D. RNA dependent RNA palymerase
Q.108 The Nap like struciore found in I.lrjﬁ: Ivca

A Glotis "
B. Epiglotus ;-'"r

Q.109 Which of the lallowlng slalements upl:lm ﬂh\l virmer lrln];u elo
multiply In Uving n"ll\ '- | ‘“‘ 4

A Binary I'|ss|m1 IS :unlmll host eell penes.

B. Virus do not pmu&‘ l.llv.'.' né rv. r_nmpununls for ﬂ;?ntlm

C.DNA is only able 1o r-zplmuu- imﬂe hvinpcells /|

D. Thu.-y h.-rm\nnw enotigh g-:nmh. ml'-l:lrmnlinu T\'D}h replication
Q.110 I‘Idﬂu-u. platypus and p:tuln nn all rqiruuhmu of which of the

fallon ing? 4

A- Homcothermic 7 X “" C. Poikilothermic
B. Hmﬁm: — , D. Nonc of these
Qi1 A I‘l:lll'.l" has ﬂ;!;u ed @ new typie of Inkibltor that blads at the actlve slte
of an ensyme. ir. Whal Iype ﬂrllll’lllllﬂﬂll tloes [his molecule display?
Al Un:u:lmpn:'um'umhlhlllm €. Competitive mhibition
B. \mmmnm-u hhl'lmmn D. All of these

Q.112 Asample ef RNAfs nqnnn:ed anl found to contaln 12% adenine. Which of
the lollowlng nu:lﬂﬂum can also be drawn about the sample?

Al 2% uncil C. 22% thymine
B. 22% cytosine D. 22%, guanine

Q.113 Which melecule passes the mitochonidrial membrane to begln the krebs
cyele?
ALATP C. NADI
B. ADP D. Acetyl coA

Q.114 An example of convergent evolullon [s best represenled by which ol the
followlng?

A Tecth of domestic dog, 1ceth of & woll

B. Wings of Geospiza magnirosiris, wings of Geospiza fortis
C. Wing of Hawkmoths, the wing of hawks

D. All of these
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Q.115

Q.116

Q.117

Q.118

Q.119

Q.120

ﬂ-ﬂl

Q.122

0.123

Q.14

Q.25

Q.126

Q.117

The two domalns te which prokaryotes are classiled into are which of the
following?

A Haeteria anid Profista C. Euknarya and Monera

B. Archaca and Eukarya ). EuBacteria and Archaea
Which Is the correcl order ol energy tramfer lram accesanry plgmeats to
maln photosyathelle plgment

ACarotenmids, Chivrophyll a, Chlorephyll b,

BChlorophyll b, Carotenonds, Chlorophyll a.

CCarotenoids.Clilorophyll b.Chlorophyll a

DChlorophyll o, Chlorophyll b, Carotenoids.

All of the following slglements are correct EXCEPMT!

A The testieles produce millions of sperm.

B. Hormones are provduced by the testicles.

C. Semen s produced in Lhe seminal vesicles

D. All males are bormn wilh one testicle

Il the non-proteln part of Enzyme Is mﬂlﬂﬂj Enndrd to theenzyme it |s

known as?

A. Cornzyme _,.r“ ,\I'.". l""n;u‘thﬂ:ic Eroup
B. Cofactor “-\_\L A:‘I:rﬁft)r
Casparian strips are I'nunll ln'

A. Epudermis

[I Endodermis / l

A Meaosis
. Fertilization o |||

Caldarials ¢hara rlcrlud by wlu:h of “Inl' fuﬂnﬂna

Afl'ismc Iﬁ':"lnl'nrgmmliun H_I ll'.",. Coelenteron

. Mmmbhsu h " . All of these

WL\ Is rnp-nnlhlc I.'nr mlr.h: ribmvamal RNA (rRNA).

Al Hu-:lm only — b : €. Nucleus & nucleolus only
B, Nuelleolus only h D. None of the above
Which the l'uilmﬂn: Is not the unique features of synovial joint?

A. Articular capsule S C. Synovial fluid

1. Adicular cartilage ™ . Fibrocartilage

Mow Is the body plam ol a lobster slmilar o that of 3 whale?
A, Closed cj,rv:u[utﬂr'_\.' system.

. Mouth develops from the blastopore,

C. A nbular digestive system with a mouth and an anus.

13. The gul is not hned by coclonmue epitheliiom.

CHEMISTRY
Reagent ke K:CryOr and H:504 lead (o 7
A. Reduetion C. Dehydmation
B. Hydrolysis D. Oxidation
Definlte Shape of X2C1 eryvial Iv I
A. Characleristic C. Habit
H. Symmetry 2. All of these
In Ralancing Redox equation the Nirst thing Is 1o
A Balance out nll the Reactants B. Write the skeleton Equation
C. Calculnte the oxidation Number 0. Wentify the clemenis
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Q.118 The separatlon of components of lquld on the basis of thelr bolling polnis is

called as?

A_ Destructive distillation C. Vacuum distillation

B. Fractional distillation D. Partial distillation
Q.119 PPure mefal

A. Cormode slowly C. Corrode rapidly

B. Does not cormodde easily D. None of these
Q.130 Manufactoring of Ammanla by Haber®s process s an

A. Endothermic reaction C. lmeversible

B. Exothermic reaction D. Slow
Q.131 Ethanol Is prepared nn a large scale by

A Hydration of alkancs C. Fermentation

B. Disullation of wood D. Williamson's synithesis

Q.132 The temperalure al which vapor pressure of a liquld becomes equal to
eilernal pressure or aimospherie pressure Is called as 7

A Melling point / t'{.:F reczing point

H. Boiling point D: Shhll[mlmn point
Q-133 Al for exothermic reaction Is £ N

AL More than | cgalive

B. Posilive i\\\.\ = M\
Q.124 Which of the [ollowing nrnlljl {x thn—pm irecting grou

1 WY T
A -COON e % ROON
B.-COR ‘;' . rﬂH

Q.125 Each rlectron Irl, “ ll:nm mus| have Its own mthu: iﬂ afl [ quanium number Is

a statemeni of 2% X 1 /

A. Aufbau principle ‘\‘ \ \?\? l!u::;ﬂ' rale

B. Pauli exclusion Fﬂ“ﬂPh‘x \ Tel_ DiNoncof these
Q136 Thenitof efectron afflaleyfs | | ). /

.||L J mal b “C. Klatom

E Mmﬂ'l. P i D. J'atom

Q.137 Elu'.l:ruu -.'I:Ilnltr ul‘nu I:Em h |Iu' tﬂcrﬂ* releasedd when an eleciron _to an
emply or lllrlhlh' filled orbitl of aft atom to form__

A Removadication ] C. Added. amon
B. Added.cation~____/" D. Removed. anion
Q.138 Convenlon of water Info sfeam Is a
A Spontaneous RF:’cliiﬁ;s C. Reversible Reaction
B. Exothermuc Reaclion D. Combustion Reaction
Q.129 On which lactor the vapour pressure of a sulnlance dees not depend?
A. Physical stale of mialter C. Surface arca
B. Intermolecular forces D. Temperature
Q.140 Nvdrogenation of alkenes takes place In the presenceol 7
Al Nickel C. Palladiuim
B. Gold D. Raney Nickel
0.141 Acctle acld Is alvo namesd an T
A. Propanoic acid C. Ethanoic acid
B. Butanoic acid D. Methanoic acid

Q.142 Effaslon Is the movement of a pas through extremely amall epenlng of

malecular slre Into reglon of pressure
A High C. Moderate

B. Low D. Same
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Q.143 llow many times a covalent lond Is siranger than 11-Bond?

A lD C. 20
B.12 D2
Q.14 Kc and Kp have the same value when reactants and produocts have same
number of
A. Aloms C. lons
B. Molecules D. Moles
Q.145 Production of Ammonla by Haber process Is made ecenomical by mslng
A Law of Mass Action C. Le clatelier's Principle
B. Canalyst D. All of thesa
Q.146 Metalvare Fy
A Reducing agents C.Bothaand b
B. Oxidizing agenis D. Dehydrating agents
Q.147 Which one of them Is known ax super cooled lqulds?
A Glass ,f?Silltl
B. Diamond Dl cabon
Q.148 What I the color of lodtofarm precipliates? 1f‘=\
A White A C. Redihsh
B. Black i\ \'e'néw
0Q.149 Which of the lnl:]urrtn; doey not react with Ihul:l"
A. Carboxylic acids b \\Jl c '-.
B. P'henol | 2% H{'l ‘“x.

Q.150 The probabliity of I'lmling II! electron between HI‘IJII‘.:I Is zere. This place Iy

\ i,
'\.

called plane 1
C. Hr-'n mdal

A Nodal \
B. Antinods) D. Ercet/

Q.151 Chemical :q-uallnm |!u nnl r.e]l Ilmul lln- == _because of certaln

n.. Rﬂc of rl.'u:."l:lvnn AN '(‘. Conditions

B. P'ressure /r"‘_"‘\ \“- P — D.BothA&C
Q.152 M“Lﬂmﬂnn al l :

A, memmrc j C. Low pressure

B. High I:mp:mlun: D. High pressure

Q.153 Rate=k | NOy|vthec u-rd:rn this reaction s
*-._.-"

A Zero C. Three
B. Two D. Wone
Q.15 Electrolysh of a dilate solutlon of NaCl resulls at the anode
A Sodium C. Chlornne
B. Hydrogen D, Oxygen
0Q.155 Which of the following Is direellonal bond?
A lome hond C. H-bond
B. Metallic bond D. None of these
Q.156 The reaction In which benzene Is reacted with alkyl or acyl hallide In the
presence of AICL Is called as T
A. Aldol condensation C. Witlig reaction
B. Wolf kishner reaction D. Friedel and crafl reaction
Q.157 An atom er group of alom that glves specific properties o the Compound Iy
calledas_____ 7
A. Functional groups C. Alkane
B. llomoelogous senes 0. Aloms

PFMC PRACTICE BUNDLE 2 TEST OB PAGE 12 OF 17

Scanned with CamScanner




Q.158

Q.159

Q.160

Q.161

Q.162

Q.163

Q.164

Q.165

Q.166

Q.167

Q.163

2.169

Q.170

Q.1mn

Q172

Which of the following causes complete reductlon of carboxylic acld Inte
alkanes?

AL HR NI C.HLP
B.MdC I LiAllL
which nne Is an Index (o metallle character
A. lonizalion energy C. Alomic radius
B. Electron aflinily B, Electmonegativity
CuS04.51120 14 an example of erystal ssatem
A. Tneclinic C. Cubic
B. Tetragonal . Rhombahedral
Oll-is added when reaction s In
A Acidie Medivm C. Neutral solution
B. Basic Medium D. All of these
Which ane of the fallawlng b an example of icanslilan element?
A Na A clpa
B. Co ' Tl.ih
Symmetry Is repetition of ___ when a'erystal rniain\- 36 along lts axls
A. Faces é\ H‘”ﬁ gln
B, Edges -q.“ 'Dl'.ll:'.ﬂ-:\
Which ane of the rullnhln:!: fol an examp \]I of state finetlon?
A. Temperature (T) / ":a\\h. El:llhnl['l}' (E) >
B. Volume (V) | T.'I' ]'I-..:t {q) B
Large hnlrnc:.rhﬁ:ni are comveried Into smaller h}l‘ilmﬂrlm ns by a process

called) as? .i \ ~"| /
A. Reforming A\ _\r. cmekmg
B. nmuum\k VY| =

Ifa Il‘:l]:lll I plotted with' mmlrllinn data Iy/rrncl.:ul In a chemlcal
réactian the curve s A

A-Rising C. U shaped
8. rﬂxmg/,—\ 1. Nonie of these

What Is the value'sf One ﬂhﬁr In Joule ?

Aoy — . C.4.18)
B. 7.98]) o D821
Octane number of 2,2.4-trimethylpentane Is

A 100 \ / C.9

B.95 .89

During reduction of aldebydes with NaBIL, which of the lollowlng
Intermedizic is formed 2

A. Carbanion C. Carbene

8. Carbocation D. Alkoxide jon
Carlboxylase are example of which type of enzyme:

A. Hydrolases C. Transferases

B. Lyascs . Ligases

Gypsum |y applled lo the soll a3 2 source of

A.Caand P C.Caand S

B Sand I B, We coulid not apply
The ____study of composition of pure substance In 171h century clearly

shows that few elements are componenis of many subsiances
A. Qualitntive B, Quanntative
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C.BothA &R D. Extensive
Q.173 Which of the following catalyst Is used In the Industrial preparation of
methanol?
A Zinc oxide and aluminn
B. Alurmina and silica
C. Silica and Chromium oxide
D. ¥ine oxide and Chrominm oxile
Q-174 The lonlc radlus of an lon Is the radius of the lon while considering it to be
In shape
A. Ohval C Rectangular
B. Round D. Sphencal
Q.175 Nalf-life peried for a first onder reactlon by Independent of
A. Ceaditions of temperature
B. lnitial Concentration of the compound

C. Presence of Colnlyst
D. All of these / \
0.176 The total number of transition elemently are? ™

A48 A c. 1'!

B. 3} L T 2%
"-\.\_‘_\‘
0Q.177 The lobes of d-orbitals lle between lh.l u:l:l

A. First two / :\\E‘ Iluﬂ “““\.
B. First thres "1. ‘Hnnf nl'ihm
A Omdation m:liu
B. Addinon Rﬂ!‘.‘lﬂll
Q179 Ehﬂ.ruh'l.ii Ixa 9 ‘\‘
Al S;mnunmus R‘.ﬂcllnl:u Ny

B. D::-:i:nm-mdunmn r-:a-.-unu
Q.180 'E'I'Ilrh of the fallaowing ihmh ]I-hnmllnr_"

A CH,CHOH =" 7 €. CH,CHLC
B.CHOCH, D. All of these

L. GLISH

C. Rvnd'uﬂmn Beaction
D 'Dud'.-llmn Reaction

'\-._‘“

0Q.151 My [ather In 1956. /'
s~y

A died C. had dic

B. dies D. has died
0.182 1 hought new TV sel yesterday,

Aa C. the

B.an D. no anicle

Q.183 You must had {A) a kind and genile heart {(B) il you want {C) / to become a
succesalul doclor (D)

A. You must had C. il you want

B. a kind and gentle beart D. to become a successiul doctor.
Q.184 Don't forgel your « I1°s very cald oulslide, ¥ou weulin't wanl lo calch a

calil.

A gloves C. umbrella

B. underwear D. scissors
Q.185 No, my [amily live nearhiy.

A. does pol C. do nol

B.do D. did
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Q.186 Ralnfall In the desert Is not only extremely low, hat alsa extremely

A. inlense C. meagre
B. cmatic D. unilesirable
3.187 Lasi Saturday my Lather {take} my Trlends and me (o the clreus,
A. lake C, will Lake
H. ook I*. has laken
Q.188 Choose the correct spelling of the word
A. irresisiable C, iresislible
H. imesistible D, imesistibel
Q.189 By the next month, we shall _(have) the project.
A have C. has
B. have had ]1 having
0.190 Apari fram cows, bulTaloes are alvo for milk production.
A. reared y L 'q!wc]nped
B. grown 1 "I]l.Eirmlul:cd
Q.191 Choose the correct spelling of the word 2
A. probaly é\ Eﬁpnﬂh !i'
B, probably
Q.192 There many nble_cl:rﬂii o Lhe plan:
A is '
B are

Q.193 What are you dolsig here?
A. Declarative =5
B. I.mper:ltl O

Q.194 The pmnm not __-

A_basings i\
B.h:lf’l'l.l.ng

Q.195 (‘hﬂe llu.' l:urm:l t[l-rﬂhl

H mlt!n.'

Q.196 What do you n:m:l]v b:'re l'nr breakfast?
A.a X __:,., C. the
B.an "-.' D no artiele

0Q.197 Choose the correcl sentence.
A. Drinks on the menu mmeluded the followmg, hot ehincolate, iced tea and

lemonade.
B. Drnks on the menu included the following hol chocolate, iced tea, and
lemonade.
C. Drinks on the menu included the following: hot chocolate, iced tea and
lemonade.
D. Drinks on the menu included the following. Hot chocolate, iced tea and
lemonade

Q.198 Thiv summer sur vacallon shoulid he both excltlng and restiol
A. complex C. compound
B. sumple 1. compound-complex

Q.199 As he haled every minute of his life In the army, It Is no wonder Lhat he
declded one day [0 e his unii.
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A desent C. avoud

B. dessent D, suspend

Q.200 Sara [unleck) the deor and {zo) Into her apariment.
A unlocking... poing C. unlockad. .. gone
B. unlocked... went D. unlocks... is poang

LOGICAL REASONING

Q.200 Whai iy the common vowel In Apple and Banana?
A E
B.
C.A
DM
Q.202 Siatement: The e today bs 1on fast, demanding and Tull of variety In all
aspecis which at times leads o stressful sltoatlons. Number of sulclde caves
amang leenagers s an Increase.
A Statement | is the cause and sttement 11 is jis eft‘m
B. Statement I1 is the cause and statement 1 £ Its nﬂ'ect
C. Both the statements | and [[ are lmlr:p.E_dcm causes
D. Both the statements | and 11 are :fl‘euuul'mlq-ctdm cuses
.203 Look at this series: 53, 53, 40, 40, ‘."1.11. vs What nnmh:‘\lbnulll come next?
A2 y, ‘-\c‘. oy
B. 14 A f D §31 g
Q.204 In the fallowing letter -rrlu, ame of the ll:llﬂ'l are mhtling. Htlch are glhven
In that erder as nnl.' of the alternatives below I ﬂ:ut the correct
aliernatives ,*

A_cheb O
B.bbch \\\. -
Q.205 hum-;h rurgnlnrguluhumnbud,-/
AlSkim~ _ I“nx L' Large inlestine
B.liver " M=~ D.BohAandB

Q.206 Thl HI.’ of all real EI;FH‘ mltr the usiial multipticatlon operation Is not a
groupsince N
Azero has mirﬁ::s:_
Bidentity elemen! docs nol i
Emultipllcalinﬁ".i;ﬁhul'ﬂ!;i‘:uﬁw
DBoth Aand B |

Q.207 Statement The avallalility of Imparted frults has Increased In the Indigenous
market and so the demand for Inldlgenous frolls has been decrrased. L. To
help the Indigenaus producers of frults, the Government should Impose high
Impert duty on these frulls, even if these are not ef good quality. IL The frult
vendars should stop selling Imparted Trults. So thal the demand lar
Indipenoas frults would be Inereased.

A Both of them [ollows C. Only | follows

B. Xone of them follows D. Only [ follows
Q.208 Measure Is to calllper as direction s (e

A. Speeid C. Nexdle

B. Hikmg D. compass
Q.209 Complete the serles A2, B4, 8, DIG, E?

AA2 B34

C.36 D. 38
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A desent C. avoud

B. dessent D, suspend

Q.200 Sara [unleck) the deor and {zo) Into her apariment.
A unlocking... poing C. unlockad. .. gone
B. unlocked... went D. unlocks... is poang

LOGICAL REASONING

Q.200 Whai iy the common vowel In Apple and Banana?
A E
B.
C.A
DM
Q.202 Siatement: The e today bs 1on fast, demanding and Tull of variety In all
aspecis which at times leads o stressful sltoatlons. Number of sulclde caves
amang leenagers s an Increase.
A Statement | is the cause and sttement 11 is jis eft‘m
B. Statement I1 is the cause and statement 1 £ Its nﬂ'ect
C. Both the statements | and [[ are lmlr:p.E_dcm causes
D. Both the statements | and 11 are :fl‘euuul'mlq-ctdm cuses
.203 Look at this series: 53, 53, 40, 40, ‘."1.11. vs What nnmh:‘\lbnulll come next?
A2 y, ‘-\c‘. oy
B. 14 A f D §31 g
Q.204 In the fallowing letter -rrlu, ame of the ll:llﬂ'l are mhtling. Htlch are glhven
In that erder as nnl.' of the alternatives below I ﬂ:ut the correct
aliernatives ,*

A_cheb O
B.bbch \\\. -
Q.205 hum-;h rurgnlnrguluhumnbud,-/
AlSkim~ _ I“nx L' Large inlestine
B.liver " M=~ D.BohAandB

Q.206 Thl HI.’ of all real EI;FH‘ mltr the usiial multipticatlon operation Is not a
groupsince N
Azero has mirﬁ::s:_
Bidentity elemen! docs nol i
Emultipllcalinﬁ".i;ﬁhul'ﬂ!;i‘:uﬁw
DBoth Aand B |

Q.207 Statement The avallalility of Imparted frults has Increased In the Indigenous
market and so the demand for Inldlgenous frolls has been decrrased. L. To
help the Indigenaus producers of frults, the Government should Impose high
Impert duty on these frulls, even if these are not ef good quality. IL The frult
vendars should stop selling Imparted Trults. So thal the demand lar
Indipenoas frults would be Inereased.

A Both of them [ollows C. Only | follows

B. Xone of them follows D. Only [ follows
Q.208 Measure Is to calllper as direction s (e

A. Speeid C. Nexdle

B. Hikmg D. compass
Q.209 Complete the serles A2, B4, 8, DIG, E?

AA2 B34

C.36 D. 38
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Q.210 Language with the most alphabets |s
A. French C. Pormuguese
B. Chinese D. Urdu
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